FH 23 EEHHBRR H23.4.6 2K
EX54 RF R RF R RF
oK = L Rivi E T 200m HENARFH | HENAKS B = HEE
R KEF 11:30 11:05 10:30 10:25 10:10

BEX mS/m 210 72 6 4 21

p H - 7.8 7.8 7.8 7.7 7.7

BOD mg/| 53 3 <3 - -

CcoD mg/| 55 10 1 - -

AREH L mg/| < 0.001 < 0.001 < 0.001 - -

T mg/| n.d. n.d. n.d. - -

Eia mg/| < 0.005 < 0.005 < 0.005 - -

FAfi o0 L mg/| < 0.02 < 0.02 < 0.02 - -

fit=% mg/| < 0.005 < 0.005 0.011 - -

Ik ER mg/| < 0.0005 < 0.0005 < 0.0005 - -

TILXILIKER mg/| n.d. n.d. n.d. - -

PCB mg/| n.d. n.d. n.d. - -

FJyEOIFLY mg/| < 0.002 < 0.002 < 0.002 - -
Fh3900IFLY mg/| < 0.0005 < 0.0005 < 0.0005 - -
Yhooray mg/| < 0.02 < 0.02 < 0.02 - -
mig 1t ik & mg/| < 0.002 < 0.002 < 0.002 - -
1,2-"hAA14Y mg/| < 0.004 < 0.004 < 0.004 - -
1,1-Y"honIFLYy mg/I < 0.02 < 0.02 < 0.02 - -
YA-1,2-9"90A1IFLY | mg/I < 0.04 < 0.04 < 0.04 - -
1,1,1-k)900I4Y mg/| < 0.001 < 0.001 < 0.001 - -
1,1,2-F)90014Y mg/| < 0.006 < 0.006 < 0.006 - -
1,3-"90A7°0A"Y mg/I < 0.002 < 0.002 < 0.002 - -

Foo5L mg/| < 0.006 < 0.006 < 0.006 - -

ROy mg/| < 0.003 < 0.003 < 0.003 - -

FARAILT mg/| < 0.02 < 0.02 < 0.02 - -

Uty mg/| < 0.01 < 0.01 < 0.01 - -

LY mg/I < 0.002 < 0.002 < 0.002 - -

BRA+ mg/| 140 90 <A1 - -




H23.6.9 &K

EX54 RF R RF RTF RTF

R oK = B E T 200m T HENES KT HE IS T BIZHEE

£ K EF %l 11:20 11:30 11:05 10:48 10:45
BEFE mS/m 279 56 37 - -
p H - 7.8 7.6 8.0 - -
BOD mg/| 43 4 <3 - -
CcOoD mg/| 107 14 3 - -
AR L mg/| < 0.001 < 0.001 < 0.001 - -
T mg/| n.d. n.d. n.d. - -
£ mg/| < 0.005 < 0.005 < 0.005 - -
o0 L mg/| < 0.02 < 0.02 < 0.02 - -
= mg/| < 0.005 < 0.005 0.014 - -
KR mg/| < 0.0005 < 0.0005 < 0.0005 - -
TILEXILIKER mg/| n.d. n.d. n.d. - -
PCB mg/| n.d. n.d. n.d. - -
M)YROIFLY mg/| < 0.001 < 0.002 < 0.002 - -
Fh3H00IFLY mg/| < 0.0005 < 0.0005 < 0.0005 - -
Y hooray mg/| < 0.02 < 0.02 < 0.02 - -
M\ 18 1k ik R mg/| < 0.0002 < 0.002 < 0.002 - -
1,2-Y°9nA14y mg/| < 0.004 < 0.004 < 0.004 - -
1,1-Y"honIFLy mg/| < 0.02 < 0.02 < 0.02 - -
YA-1,2-"9AAIFLY | mg/I < 0.04 < 0.04 < 0.04 - -
1,1,1-b)y0nz4y mg/| < 0.0005 < 0.001 < 0.001 - -
1,1,2-p)4RAI4Y mg/| < 0.006 < 0.006 < 0.006 - -
1,3-Y"4007°aA°"y mg/| < 0.002 < 0.002 < 0.002 - -
Fro5 LA mg/| < 0.0006 < 0.0006 < 0.0006 - -
ROy mg/| < 0.0003 < 0.0003 < 0.0003 - -
FAR AT mg/| < 0.0003 < 0.0003 < 0.0003 - -
Uty mg/| < 0.01 < 0.01 < 0.01 - -
LV mg/| < 0.002 < 0.002 < 0.002 - -
BRA4 mg/| 249 68 8 - -




H23.10.12 &K

EX54 RF R RF R RF

oK = L Rivi E T 200m HENARFH | HENAKS B = HEE

R KEF 11:40 11:35 10:50 10:40 10:30
BEX mS/m 325 75 5 4 11
p H - 7.9 7.5 7.5 7.4 7.4
BOD mg/| 67 4 <3 - -
CcoD mg/| 146 13 <1 - -
HREH L mg/| < 0.001 < 0.001 < 0.001 - -
T mg/| n.d. n.d. n.d. - -
Eia mg/| < 0.005 < 0.005 < 0.005 - -
FAfi o0 L mg/| < 0.02 < 0.02 < 0.02 - -
g mg/| < 0.005 < 0.005 0.011 - -
Ik ER mg/| < 0.0005 < 0.0005 < 0.0005 - -
TILXILIKER mg/| n.d. n.d. n.d. - -
PCB mg/| n.d. n.d. n.d. - -
FJyEOIFLY mg/| < 0.001 < 0.002 < 0.002 - -
Fh3900IFLY mg/| < 0.0005 < 0.0005 < 0.0005 - -
Y hnnray mg/| < 0.001 < 0.02 < 0.02 - -
mig 1t ik & mg/| < 0.0002 < 0.002 < 0.002 - -
1,2-"hAA14Y mg/| < 0.0004 < 0.004 < 0.004 - -
1,1-9"9nAIFLYy mg/I < 0.001 < 0.02 < 0.02 - -
YA-1,2-9"90A1IFLY | mg/I < 0.001 < 0.04 < 0.04 - -
1,1,1-k)900I4Y mg/| < 0.0005 < 0.001 < 0.001 - -
1,1,2-F)90014Y mg/| < 0.0006 < 0.006 < 0.006 - -
1,3-9°90A7°0A"Y mg/I < 0.0002 < 0.002 < 0.002 - -
FI3 L mg/| < 0.0006 < 0.0006 < 0.0006 - -
ROy mg/| < 0.0003 < 0.0003 < 0.0003 - -
FARAILT mg/| < 0.0003 < 0.0003 < 0.0003 - -
Uty mg/| < 0.001 < 0.01 < 0.01 - -
LY mg/I < 0.002 < 0.002 < 0.002 - -
BRA+ mg/| 364 110 2 - -




H24.3.8 ££ K

EX54 RF R RF RTF RTF

Rkt = B L BE T 200m F HENSHREN | HENEHRE BII=ZHERE

£ K EF %l 11:20 11:11 10:40 10:30 10:13
BEFE mS/m 190 42 4 - -
p H - 7.9 7.7 7.7 - -
BOD mg/| 23 5 <3 - -
CcOoD mg/| 35 11 1 - -
AR L mg/| < 0.001 < 0.001 < 0.001 - -
T mg/| n.d. n.d. n.d. - -
£ mg/| < 0.005 < 0.005 < 0.005 - -
o0 L mg/| < 0.02 < 0.02 < 0.02 - -
= mg/| < 0.005 < 0.005 < 0.005 - -
KR mg/| < 0.0005 < 0.0005 < 0.0005 - -
TILEXILIKER mg/| n.d. n.d. n.d. - -
PCB mg/| n.d. n.d. n.d. - -
M)YROIFLY mg/| < 0.001 < 0.002 < 0.002 - -
Fh3H00IFLY mg/| < 0.0005 < 0.0005 < 0.0005 - -
Y hooray mg/| < 0.02 < 0.02 < 0.02 - -
M\ 18 1k ik R mg/| < 0.0002 < 0.002 < 0.002 - -
1,2-Y°9nA14y mg/| < 0.004 < 0.004 < 0.004 - -
1,1-Y"honIFLy mg/| < 0.02 < 0.02 < 0.02 - -
YA-1,2-"9AAIFLY | mg/I < 0.04 < 0.04 < 0.04 - -
1,1,1-b)y0nz4y mg/| < 0.001 < 0.001 < 0.001 - -
1,1,2-p)4RAI4Y mg/| < 0.006 < 0.006 < 0.006 - -
1,3-Y"4007°aA°"y mg/| < 0.002 < 0.002 < 0.002 - -
Fro5 LA mg/| < 0.0006 < 0.006 < 0.006 - -
ROy mg/| < 0.0003 < 0.003 < 0.003 - -
FAR AT mg/| < 0.02 < 0.02 < 0.02 - -
Uty mg/| < 0.01 < 0.01 < 0.01 - -
LV mg/| < 0.002 < 0.002 < 0.002 - -
BRA4 mg/| 190 43 3 - -




